== 2260 HOMEWORK #5 Partial Answers 'u

F 11
1. a) Use delay identity and take L{v(¢)=1tcos(t+a—b)}
b) Use derivative identity and L{zsin(wt)+ t2} = L{tsin(wt)} + L{tz}
d
c) ——L{cos(wt)}
ds s—s+a
d) Use integration and multiplication by ¢ identities
2. Use trig identity to change sin(wt)cos(wt) into sum of single cos( ) or sin( )
terms.
3. a) 3+2¢7%
b) Te [cos(3¢) + another term ]
¢) one root of denominatoris s =—11
d) one root of denominator is s = -8 + j4
N N+1
-1
4, Hint: 2 A —
- a—1
n=0

5. Hint: s=s+5—35 and use identity for multiplication by ¢~ %



